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Correct Option selected Wrong Option selected Correct Option Not Answered
 

Section - I (English)

Q.No: 1 Choose the correct option that completes the sentence logically and grammatically:
The music recital was _____ entertaining that everyone had a great time.

much

for

to

so

Q.No: 2 Read the following paragraph and then answer the questions given below by choosing the most appropriate option
based on what is said in the paragraph:
The Impact of Social Media on Society

Social media has become an integral part of modern society, shaping communication, relationships, and information
dissemination. While it facilitates global connectivity and provides a platform for self-expression, there are concerns
about its impact on mental health and privacy. Social media platforms often influence public opinions, making it crucial
for users to critically evaluate information. Balancing the benefits and drawbacks of social media is essential for a
healthy and informed engagement with the digital world.

What does a social media facilitate?

Global connectivity

Isolation

Decreased communication

No self-expression

Q.No: 3 Read the following paragraph and then answer the questions given below by choosing the most appropriate option
based on what is said in the paragraph:
The Impact of Social Media on Society

Social media has become an integral part of modern society, shaping communication, relationships, and information
dissemination. While it facilitates global connectivity and provides a platform for self-expression, there are concerns
about its impact on mental health and privacy. Social media platforms often influence public opinions, making it crucial
for users to critically evaluate information. Balancing the benefits and drawbacks of social media is essential for a
healthy and informed engagement with the digital world.

What concerns are raised about social media in the paragraph?

Concerns about food

Concerns about fashion

Concerns about mental health and privacy

Concerns about physical health

Not Answered

Q.No: 4 Read the following paragraph and then answer the questions given below by choosing the most appropriate option
based on what is said in the paragraph:
The Impact of Social Media on Society

Social media has become an integral part of modern society, shaping communication, relationships, and information
dissemination. While it facilitates global connectivity and provides a platform for self-expression, there are concerns
about its impact on mental health and privacy. Social media platforms often influence public opinions, making it crucial
for users to critically evaluate information. Balancing the benefits and drawbacks of social media is essential for a
healthy and informed engagement with the digital world.

What does the paragraph suggest users should do regarding social media information?

Ignore information

Critically evaluate information

Share information without verification

Avoid using social media

Not Answered

Q.No: 5 Arrange the following jumbled sentence into a coherent order:
A. Flows
B. Silent
C. Quietly
D. River
E. Downstream
F. The

E-C-F-D-A-B

F-B-D-A-C-E

F-C-D-A-B-E

A-B-C-D-E-F

Q.No: 6 Choose the correct question tag from the four options given that completes the sentence logically and grammatically:
Let's go for a movie, _______?

shall we

will we

can we

haven't we

Q.No: 7 Choose the correct word for "A person who studies the science of plants."

Ornithologist

Botanist

Ecologist

Zoologist

Q.No: 8 Fill in the blank with the correctly spelled word:
The children gathered around the storyteller, eager to hear the _______ tale.

enchanteing

enchatning

enchannting

enchanting

Not Answered

Q.No: 9 Choose the correct meaning of the idiom or phrase underline in the sentence:
Deepak always goes the extra mile to help his colleagues.

Goes beyond what is required

Walks some extra distance

Refuses to help

Takes a shortcut

Q.No: 10 Choose the correct part of speech for the underlined word in each sentence.
They went to the market and bought fruits.

Noun

Conjunction

Pronoun

Verb

Q.No: 11 What does the idiom "all ears" mean?

Covering one's ears

Ignoring the conversation

Listening attentively or eagerly

Having large ears

Not Answered

Q.No: 12 Choose the correct part of speech for the underlined word in each sentence.
The old house creaked in the wind.

Verb

Noun

Adjective

Adverb

Q.No: 13 Choose the correct part of speech for the underlined word in each sentence.
The author skillfully crafted an engaging narrative in the novel.

Adverb

Verb

Noun

Adjective

Q.No: 14 Fill in the blank with the most appropriate punctuation mark.
My favourite subjects are English _______ Math and Science.

question mark (?)

comma (,)

exclamation mark (!)

period (.)

Q.No: 15 Which sentence uses the past perfect tense?

I had left before you arrived.

He is playing cricket.

They will finish the project soon.

She was singing yesterday.

Q.No: 16 In the following question, a sentence has been given in Active/Passive Voice. Out of the four alternative suggested,
select the one which best expresses the same sentence in Passive/Active Voice.

Who can count the stars in the sky?

By who could the stars be counted in the sky?

By whom can the stars in the sky be counted?

By whom can be stars in the sky counted?

By whom could the stars in the sky be counted?

Q.No: 17 What is the Synonym for "Jubilant"?

Mournful

Depressed

Joyful

Sad

Q.No: 18 Identify the sentence with the correct use of a semicolon.

The sun is shining; let's go for a walk.

The sun is shining: let's go for a walk.

The sun is shining. let's go for a walk.

The sun is shining let's go; for a walk

Q.No: 19 Choose the correct plural form of "cactus":

cacti

cactuses

cactuss

cactoos

Q.No: 20 Choose the option to correctly complete the sentence in the present tense:
He _____ basketball every Saturday.

play

played

plays

playing

Q.No: 21 Choose the option that best represents the antonym of the underlined word in the sentence.
The congenial atmosphere at the party encouraged conversation and laughter

sociable

quiet

confession

festive

Not Answered

Q.No: 22 What is the antonym of "Reticent"?

Delicate

Reflect

Talkative

Reserved

Not Answered

Q.No: 23 Choose the correct option that completes the sentence logically and grammatically:
The team worked hard to achieve _____ success in the competition.

many

the

much

an

Q.No: 24 Choose the correct article in English grammar that completes the sentence:
She is ___ untidy girl.

a

the

an

No Article Required

Q.No: 25 Choose the word that means "to move with a smooth, wavelike motion":

Glide

Fumble

Stumble

Jolt

Not Answered

Section - II (Odia)

Q.No: 26

Q.No: 27

Q.No: 28

Q.No: 29

Not Answered

Q.No: 30

Q.No: 31

Q.No: 32

Q.No: 33

Q.No: 34

Q.No: 35

Not Answered

Q.No: 36

Q.No: 37

Q.No: 38

Q.No: 39

Q.No: 40

Q.No: 41

Q.No: 42

Q.No: 43

Q.No: 44

Q.No: 45

Q.No: 46

Q.No: 47

Q.No: 48

Q.No: 49

Q.No: 50

Section - III (Arithmetic)

Q.No: 51 If a person walks at a speed of 6
kilometers per hour, how long will it take
to walk a distance of 18 kilometers?

2 hours

3 hours

5 hours

18 hours

Q.No: 52 The Highest Common Factor (HCF) of
two consecutive numbers is always
____

1 1

0 0

Smaller of the two numbers

Larger of the two numbers

Q.No: 53 A takes twice as much time as B or
thrice as much time as C to finish a
piece of work. Working together, they
can finish the work in 2 days. C can do
the work alone in:

12 days 12 

4 days 4 

6 days 6 

8 days 8 

Q.No: 54 Simplify:

-1 -1

-2 -2

2 2

1 1

Q.No: 55 A Cricket team played 40 matches in the
tournament out of which they lost 6
matches. What percentage of match did
they win?

Q.No: 56
A deck of playing cards is shuffled, and one card is
drawn. What is the probability of drawing a red card?

1/2 1/2

1/52 1/52

1/4 1/4

1/26 1/26

Q.No: 57 What is 40% of 90?

40 40

36 36

38 38

32 32

Q.No: 58
In a crate, the ratio of Strawberries to Bananas is
3:5. If the total number of fruits are 64, how many
Bananas are there?

40 40

30 30

36 36

44 44

Q.No: 59 A merchant purchased 13 kgs of grapes
for Rs.1300. He then sold them at the
rate of Rs.120 per kg. Find the profit
percent ?

Q.No: 60 The average marks of a group of six girls
in Math is 68. The individual marks of
five of them are 68, 72, 58, 60, and 82.
Find the marks obtained by the sixth girl?

60 60

72 72

70 70

68 68

Q.No: 61 A cyclist rides at a speed of 12km/h.
How far will they travel in 2hours and
15minutes?

27 km 27 km

30.15 km 30.15 km

25 km 25 km

24.15 km 24.15 km

Q.No: 62 The average of seven numbers is 60. If the first
number is 90, what is the average of the remaining
numbers?

60 60

50 50
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50 50

55 55

65 65

Not Answered

Q.No: 63 A vendor buys 10 kgs of Garlic and 10
kgs of Ginger from the market, each at
Rs.30 per kg. He sells Garlic at Rs.40
per kg and Ginger at Rs.35 per kg.
What is his loss or gain percent ?

30% Loss

25% Profit

25% Loss

30% Profit

Not Answered

Q.No: 64 In a set of lottery tickets there
are 10 tickets with prize and 25
blank tickets. What is the
probability of getting a prize?

1/2 1/2

2/7 2/7

2/3 2/3

1 1

Q.No: 65 Simplify:

Q.No: 66 Rinku invested Rs4000 in
an fixed deposit. In three
years how much
compound interest will he
get, if the first year rate of
interest was 5% second
year had 6%and third
year had 8% more than
second year?

Rs. 1065.28 Rs. 1065.28

Rs. 1045.28 Rs. 1045.28

Rs. 1055.28 Rs. 1055.28

Rs. 1075.28 Rs. 1075.28

Not Answered

Q.No: 67 A can do a piece of work in 10 days and
B in 15 days. How long will they take
together to finish it?

36 days

12 days

6 days

18 days

Q.No: 68 A sum of Rs.5000 is lent at an annual
interest rate of 8%. What will be the
simple interest after 2 years?

Rs. 200 Rs. 200

Rs. 900 Rs. 900

Rs. 400 Rs. 400

Rs. 800 Rs. 800

Q.No: 69 Simplify:

Q.No: 70 What is the Least Common Multiple (LCM) of 5 and 7?

75 75

35 35

25 25

105 105

Q.No: 71 If the cost price of an
article is Rs.110 and
the selling price is
Rs.80. What is the
loss percentage?

26.47% 26.47%

29.27% 29.27%

28.27% 28.27%

27.27% 27.27%

Not Answered

Q.No: 72 Madhu is four times old as Kavya. Five
years ago madhu age was seven times
Kavya's age. Find their present ages.

Madhu is 20 and Kavya is 80

Madhu is 30 and Kavya is 60

Madhu is 20 and Kavya is 5

Madhu is 40 and Kavya is 10

Not Answered

Q.No: 73 The combined age of Father and son is 90
years. Father is 30 years older to the son.
What is the age of the father?

30 years

60 years

90 years

40 years

Q.No: 74 Simplify:

Q.No: 75 Two numbers are in the ration 4:7. When
these two numbers are added, the result
is 33. Find the numbers.

5 and 15

12 and 12

9 and 21

12 and 21

Section - IV (General Knowledge)

Q.No: 76 Which highway tunnel connects Manali
to Lahaul-Spiti Valley?

Tanglang La Tunnel

Atal Tunnel

Qazigund Banihal Tunnel

Zojila Tunnel

Q.No: 77 Which river is generally referred to as "Chandrabhaga?"

Tapi

Ganga

Chenab

Ravi

Not Answered

Q.No: 78 Which day is celebrated as World Water Day?

24 August

10 June

22 March

5 April

Q.No: 79 The word Rupee is derived from the word "Raupya"
in Sanskrit. What does it mean?

Currency

Silver

Gold

Money

Q.No: 80 Which country has the longest written constitution of
any sovereign country in the world?

United States

France

Great Britain

India

Q.No: 81 AMUL is an example of which type of Industry?

Private Industry

Cooperative Industry

Corporate Industry

Joint Sector Industry

Not Answered

Q.No: 82 What is the national currency of Kuwait?

Kuwaiti rupee

Kuwaiti dinar

Kuwaiti rangit

Kuwaiti dollar

Not Answered

Q.No: 83 Which state/UT launched the
"Artificial Intelligence for Youth"
initiative?

Kerala

Andhra Pradesh

Gujarat

Odisha

Q.No: 84 Baba Amte was well-known for his
social work relating to the eradication
and care of the poor suffering from
_________.

Bird flu

Rabies

Leprosy

Small-pox

Not Answered

Q.No: 85 Which country hosted ICC ODI cricket
world cup in 2023?

India

England

Australia

Bangladesh

Q.No: 86 Who painted the famous painting of "Mona Lisa"?

Monet

Leonardo Da Vinci

Pablo Picasso

Vincent Van Gogh

Not Answered

Q.No: 87 Which of the given schedules of the
Indian Constitution includes the
Provision regarding Rajya Sabha
members?

9th schedule

10th schedule

4th schedule

6th schedule

Not Answered

Q.No: 88 The headquarters of International Monetary Fund is
located in ______.

New Delhi

New York

Washington DC

Geneva

Not Answered

Q.No: 89 What is the first and last letters of the Greek alphabet?

Epsilon and Omega

Alpha and Theta

Sigma and Omega

Alpha and Omega

Not Answered

Q.No: 90 When was the first Independence Day
celebrated in India before 1947?

26 January 1931

26 January 1932

26 January 1930

26 January 1935

Not Answered

Q.No: 91 Deficiency of Vitamin D causes:

Scurvy

Beri-Beri

Rickets

Night blindness

Q.No: 92 Carbon and energy requirements of the
autotrophic organisms are fulfilled by:

Digestion

Respiration

Photosynthesis

Transpiration

Q.No: 93 _________ is used for making solar cells.

Silicon

Iron

Graphite

Carbon

Q.No: 94 Who signed the historic Lucknow Pact?

The Congress and the British Government

The Muslim League and the British Government

The Congress and the Muslim League

The Congress, the Muslim League and the British Government

Not Answered

Q.No: 95 The Taj Mahal and other famous
heritage monuments are being
affected by _______.

Noise pollution

Water pollution

Air pollution

Soil erosion

Q.No: 96 When is National Voter's Day celebrated in India?

January 25

April 7

March 4

January 10

Q.No: 97 Which drug is best known for its ability to
cure Malaria?

Amphetamines

Quinine

Antibiotics

Penicillin

Q.No: 98 What is full form of SQL?

Structured Query Language

Scripted Query Language

Structured Quantum Language

Scripted Quantum Language

Q.No: 99 Fill in the blank with the correct option:

__________ Award is conferred in recognition of
exceptional service/performance of the highest order
in any human endeavours, without distinction of race,
occupation, position, or gender.

Bharat Ratna

Vir Chakra

Sena Chakra

Padma

Q.No: 100 When was the Quit India movement started?

August 1942

August 1943

August 1946

August 1930

Section - V (Computer Knowledge)

Q.No: 101 PSTN is
designed for
telephone,
which requires
modem for
data
communication.
What is the full
form of PSTN?

Public Switched
Transferring Network

Private Switching
Telephone Network

Packet Switching
Telephone Network

Public Switched
Telephone Network

Q.No: 102 What does 'S' stand in the word VIRUS?

Siege

System

Signal

Style

Q.No: 103 The term gigabyte refers to:

1024 TB 1024 TB

1024 KB 1024 KB

1024 GB 1024 GB

1024 MB 1024 MB

Q.No: 104 A ______ is also called a Visual Display Unit.

Microphone

Monitor

Camera

Scanner

Q.No: 105
What is the full form of ISDN?

Information on Services of Digital Network

International Services for Digital Network

Integral System Digital Network

Integrated Services Digital Network

Q.No: 106 Which is the part of a computer that one
can touch and feel?

MS Excel

Output

Software

Hardware

Q.No: 107
"http://www. google.com/services/index.htm’"
From above, What is " index.htm" known as?

Protocol identifier

Directory

Web page

Domain name

Q.No: 108 Which of the following is a computer operating
system?

Comodo

RTOS RTOS

BIOS BIOS

Maxthon

Q.No: 109 In MS word, which shortcut
key is used to close the
current document?

Ctrl + G Ctrl + G

Ctrl + W Ctrl + W

Ctrl + F1 Ctrl + F1

Shift + F5 Shift + F5

Q.No: 110
E-mail addresses separates the username from ISP
using the ________ symbol

Q.No: 111 Which of the following is not an edition of MS Word?

MS Word 1020 MS  1020

MS Word 2010 MS  2010

MS Word 2007 MS  2007

MS Word 2003 MS  2003

Q.No: 112 An Excel cell accepts only maximum _____
characters.

256 256

32,767 32,767

16,384 16,384

65,490 65,490

Q.No: 113
Which of the following devices can be used to directly
input printed text?

ROM ROM

OMR OMR

OCR OCR

MICR MICR

Q.No: 114 Which of the following is not an operating system?

Linux

MS Office

Unix

Windows

Q.No: 115 Which of the
following layer
manages
communication
in simplex, half
duplex or full
duplex?

Session Layer

Application Layer

Network Layer

Data Link Layer

Not Answered

Q.No: 116 _______ are small files of information that a
web server generates and sends to a web
browser.

Applications

Web bug

Spam

Cookie

Not Answered

Q.No: 117
Which PowerPoint view displays each slide of
the presentation as a thumbnail and is useful
for rearranging slides?

Slide sorter

Slide master

Slide design

Slide show

Q.No: 118 Gmail belongs to ______.

Yahoo mail

Go-to mail

Great mail

Google mail

Q.No: 119 Shortcut key for previewing the page before
printing in MS Word:

Ctrl + F1 Ctrl + F1

Ctrl + F2 Ctrl + F2

Shift + F1 Shift + F1

Shift + F2 Shift + F2

Not Answered

Q.No: 120 What is the use of "All Caps" feature in MS-Word?

It shows all the image captions

It adds caption for selected Image



It adds caption for selected Image

It changes all selected text into Capital Letter

It changes all selected text into Small Letter

Not Answered

Q.No: 121 Random Access Memory is not a _____ memory.

Fast

Permanent

Costly

Volatile

Q.No: 122 If ASCII value of B is 66 then the
ASCII value of C is ______.

Cannot determine

Must be calculated

Q.No: 123 What is the default extension for "Apple
QuickTime movie file"?

.mov .mov

.mp3 .mp3

.mp4 .mp4

.mpeg .mpeg

Not Answered

Q.No: 124 Which of these is also malicious software?

Hardware

Malware

Malwarebytes

Badware

Q.No: 125 ______ spreads in application software.

Antivirus

File virus

Boot virus

Macro virus

Section - VI (General Science)

Q.No: 126 Which of the following organisms produce
their own food?

Leech

Green Plants

Reptiles

Tape -worm

Q.No: 127 Which one of the following shows the correct
relationship in terms of reactivity?

Mg > Fe > Pb Mg > Fe > Pb

Pb > Mg > Fe Pb > Mg > Fe

Fe > Pb > Mg Fe > Pb > Mg

Fe > Mg > Pb Fe > Mg > Pb

Not Answered

Q.No: 128 Which of the following compound is
mainly used in hand sanitizer?

Ketone

Acetic acid

Aldehyde

Alcohol

Q.No: 129 Which gas is found in higher
concentrations in the
stratosphere compared to the
troposphere?

NO2 NO2

CO2 CO2

SO2 SO2

O3 O3

Q.No: 130 In a DC motor, the coil is linked
to a split ring of diameter 4mm.
What is the purpose of the split
ring?

To safeguard the coil from mechanical
damage.

To change the direction of current through
the coil.

To prevent deformation due to heating of
the ring as it carries current.

Protect the coil from electrical damage.

Not Answered

Q.No: 131
Which of the following is not a female hormone

Progesterone

Oestrogen

Testosterone

Estrogen

Q.No: 132 What is the main function of the fluid filled in the
brain?

To facilitate communication

To provide nutrients

To offer shock absorption

To maintain temperature

Q.No: 133
Which of the following gases is not a noble gas?

Chlorine

Argon

Helium

Xenon

Q.No: 134 Which statement is FALSE about
single-celled organisms and their
nutrition?

Food vacuoles are essential for both
digestion and waste removal

Some unicellular organisms can
photosynthesize their own nutrients.

All unicellular organisms rely on endocytosis
for food intake.

The complexity of the digestive system
reflects the organism's size and needs.

Q.No: 135
What is the need to conserve fossil fuels?

They are expensive

They cause air pollution

They have limited reserves

They are renewable

Q.No: 136 Which part of Bryophyllum produces
new plants by vegetative propagation?

Fruit

Roots

Leaves

Stem

Q.No: 137 ____________respiratory pigment
is responsible for carrying oxygen
in human beings.

Chlorophyll

Hemoglobin

Melanin

Carotene

Not Answered

Q.No: 138 _______________ is a main/ largest
component of natural gas.

Mercury

Methane

Propane

Chlorine

Q.No: 139 What is the name of the enzyme
that is secreted by the pancreas,
that helps in digestion of
proteins?

Lipase

Amylase

Trypsin

Pepsin

Not Answered

Q.No: 140 Which of the following is a
characteristic used in the
classification of animals?

The place where they live

Based on eating habit

Based on the type of blood group

Body plan and developmental path way

Q.No: 141 Important safety method used
for protecting home appliances
from short-circuiting or
Overloading is ________

use of high quality switches

use of fuse

use of current detectors

switching off electricity when not in use

Q.No: 142 In which group of plants seeds are protected by
fruits?

Sepals

Pteridophytes

Angiosperm

Gymnosperm

Q.No: 143
Which metal is the lightest?

Potassium

Calcium

Sodium

Lithium

Q.No: 144 ___________ is the combination of sex
chromosomes in men?

XY XY

XX XX

YY YY

XXY XXY

Q.No: 145 What is the primary aim of sustainable management
of natural resources?

Depletion

Conservation

Exploitation

Exporting

Q.No: 146 If 10 mL of NaOH solution is
completely neutralized by 8 mL of
a given solution of HCl, what
amount of the same HCl solution,
that was used before, will be
needed to neutralize 20 mL of
NaOH solution

4 ml

8 ml

12 ml

16 ml

Not Answered

Q.No: 147 What is responsible for the acidic nature of a
substance in solution?

Formation of H+ ions

Presence of carbon dioxide

Formation of OH- ions

Evolution of hydrogen gas

Q.No: 148 What volatile liquid is utilized in
plants that convert thermal energy
from the ocean?

Methane

Ammonia

Nitrogen

Gasoline

Q.No: 149
When does the flow of current decrease?

When the temperature increases

When the resistance of a wire increases

When the voltage increases

When the resistance of a wire decreases

Not Answered

Q.No: 150
Magnification formula for lens is given by

Ratio of object distance to that of image distance

Ratio of square of object distance to that of image distance

Ratio of square of image distance to that of object distance

Ratio of image distance to that of object distance

Not Answered


